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	Teacher Leaders:
	Arlo Caine

	Teacher/Video ID:
	RESPeCT Math Content Deepening - Grade 5 Water Cycle, Teachers as Learners

	Content area:
	Water Cycle

	STeLLA Strategy: 
	Making connections between science and math in teacher learning

	Context: 
	This group of 5th grade teachers is gathered during a 10-day summer institute focused on learning science content and STeLLA strategies in the context of an NGSS-aligned lesson sequence on matter, molecules, and the water cycle.  The focus of this clip is considering the integration of deep science learning and grade appropriate computational thinking by having teachers engage as learners in an activity estimating the number of particles in a particular space.  

	Time:
	00:00-06:51


	Clip 1
	Speaker
	Line
	Transcript

	
	T
	1
	Ok. So I want you to hold up your hand for me. I want you to give me a thumbs up if you agree with what I'm going to say. Thumbs down if you disagree [inaudible] with what I'm going to say. And a thumbs sideways if you're just a little bit unsure. Ok? Alright. Here we go. First statement. The number of ping pong balls in our container is more than 10. Thumbs up if you agree with me. Thumbs down if you disagree. Ok. We're all in agreement, more than 10. The number of ping pong balls in our container is more than 100. Thumbs up if you agree with me. Thumbs down if you disagree. Thumb in between if you're just unsure. Ok. Disagreeing hands, some unsure [inaudible]. Ok. Going one more now. The number of ping pong balls, I'm pretty sure I know what your answer is going to be, but the number of ping pong balls in there is greater than 1,000. Alright. We're all [inaudible] [inaudible] right. So our sanity check then, is we have consensus there's more than 10 and less than 1,000. Right? Ok. So the number of balls in there is greater than or equal to 10, and is less than or equal to 1,000. Ok. What numbers did we get in our estimate? Anybody remember? Can you guys share? Yes?



	
	S
	2
	Sixty-three.

	
	T
	3
	Sixty-three. What do you think?

	
	S
	4
	Ninety-six.

	
	T
	5
	Ninety-six? Ok.

	
	S
	6
	Ninety.

	
	T
	7
	Ninety.

	
	S
	8
	Eighty-four.

	
	T
	9
	Eighty-four.

	
	S
	10
	Seventy.

	
	T
	11
	Seventy.

	
	S
	12
	Sixty.

	
	T
	13
	Sixty.

	
	S
	14
	I have 45.

	
	T
	15
	Forty-five.

	
	S
	16
	Seventy-five.

	
	T
	17
	Ok, 75. Yes sir?

	
	S
	18
	Fifty-two.

	
	T
	19
	Fifty-two.

	
	
	
	Black Screen

	Clip2
	
	
	

	
	Ss
	20
	[inaudible]

	
	T
	21
	So but can you tell me how you said you were looking for the ball. Right?

	
	S
	22
	I was looking for the ball because what I did was, I tried to estimate how many kernels [inaudible].

	
	T
	23
	Ah ok. So if I allow you to open the container.

	
	Ss
	24
	[inaudible]

	
	T
	25
	Can you give us an estimate? How many kernels occupy [inaudible] [inaudible]. 
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	T
	26
	You have some tools in front of you. I want you to see if you can calculate how many grains of rice are in there. So first before you sort of all dive for that tool there, let's talk it with your partner. See if you can brainstorm how could you estimate the number of grains of rice.

	
	Ss
	27
	[inaudible]

	
	T
	28
	Now how could you, we're after estimates right? [inaudible]

	
	S
	29
	Forty.

	
	S
	30
	Forty

	
	S
	31
	Forty?

	
	S
	32
	Forty.

	
	
	
	Black Screen

	Clip 4
	
	
	

	
	T
	33
	Count 40. You can.

	
	T
	34
	Why is it that counting the number of [inaudible] in the box and then multiplying.

	
	S
	35
	It's how you measures the capacity, the space when you take a [inaudible] [inaudible].

	
	T
	36
	Ok. And now I'm [inaudible] using when you were doing the measurements with the [inaudible] what object [inaudible] [inaudible] an object for you.

	
	S
	37
	Well we were using the cubic centimeter to represent how many rice grains the object [inaudible] [inaudible].

	
	T
	38
	Yeah. So you counted the number of these things, like in the ping pong ball case. And then for each of the containers, you counted how many rice grains went in that's why you multiply it right? Because the volume is the sum of those total pieces. And if you figured out [inaudible] [inaudible] how many grains of rice in there that gave you your answer.
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